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1. A steamer costs list price plus VAT at 20%

The list price of the steamer is £50

Work out the total cost of the steamer.

£ . . . . . . . . . . . . .
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2. A fridge normally costs £250

Marek gets 10% off the price.

How much will he pay for the fridge?

£ . . . . . . . . . . . . .
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3. The cost of furniture in a shop is to rise by 15% due to the rise in the price of wood.

A wooden bookshelf costs £140 before the prise rise.

What is the new price of this bookshelf?

£ . . . . . . . . . . . . .
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4. A second hand boat costs £7 500

Mrs. Kontoh gets 30% off the price of the boat.

Work out how much she has to pay for the boat.

£ . . . . . . . . . . . . .
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Answers

1. £60

2. £225

3. £161

4. £5 250

cbna FDPR problem NC (8) SRS Learning Limited


